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F–2709   

U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Mathematics 

Allied : ANCILLARY MATHEMATICS — III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define order of a partial differential equation. 

 £Sv ÁøPUöPÊ \©ß£õmiß Á›ø\ø¯ Áøµ¯Ö. 

2. Eliminate ba,  from the equation abyaxz  . 

 abyaxz   GßÓ \©ß£õmiÀ ba,  &I }USP. 

3. Find the complete integral of p
p

q
qypxz  . 

 p
p

q
qypxz  &ß •Çø©z öuõøPø¯U PõsP. 

4. Give the Lagrange’s subsidiary equation. 

 ö»Uµõg]°ß xøn \©ß£õmøh u¸P. 

5. Find  234 ttL  . 

 PõsP  234 ttL  . 

6. Find 
  












5

1

3

1

s
L . 

 PõsP 
  











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7. State Newton’s backward difference formula. 

 {³mhÛß ¤ß÷ÚõUS `zvµzøu GÊxP. 

8. Define Maxima and Minima values of a polynomial. 

 J¸ £À¾Ö¨¦U ÷PõøÁ°ß «¨ö£¸ ©ØÖ® «a]Ö 
©v¨¦PøÍ Áøµ¯Ö. 

9. Define Beta and Gamma functions. 

 Áøµ¯Ö ¥mhõ ©ØÖ® Põ©õ \õº¦PÒ. 

10. Evaluate   
1

0

77 1 dxxx . 

 ©v¨¤kP   
1

0

77 1 dxxx . 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Solve : zyx
x

z
x 32 



. 

  wºUP: zyx
x

z
x 32 



 . 

Or 

 (b) Form the p.d.e. by eliminating f and   

from    ayxayxfz   . 

     ayxayxfz   &¼¸¢x f,  I }US £Sv 

ÁøPUöPÊ \©ß£õk PõsP. 

12. (a) Solve :     mxlyqlznxpnymz  . 

  wºUP:     mxlyqlznxpnymz   . 

Or 

 (b) Solve : 0 yxpq . 

  wºUP: 0 yxpq . 
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13. (a) Find  ttL 3cos2 . 

  PõsP   ttL 3cos2 . 
Or 

 (b) Find    










21

11

sss
L . 

  PõsP    










21

11

sss
L . 

14. (a) Find the value of  6.0f   from the following data : 

x : 0.2 0.4 0.6 0.8 1.0 

f (x) : 0.9798622 0.9177710 0.8080348 0.6386093 0.3483735

  RÌPõq® ÂÁµ[PÐUS  6.0f  &ß ©v¨¦ PõsP. 
x : 0.2 0.4 0.6 0.8 1.0 

f (x) : 0.9798622 0.9177710 0.8080348 0.6386093 0.3483735

Or 

 (b) From the following data find 
dx

dy
 at 51x .   

x :  50 60 70 80 90 

y : 19.96 36.65 58.81 77.21 94.64

  RÌPõq® ÂÁµ[PøÍ £¯ß£kzv 
dx

dy
&ß ©v¨ø£ 

51x  GÝ® ©v¨¤À PõsP. 
x :  50 60 70 80 90 

y : 19.96 36.65 58.81 77.21 94.64

15. (a) Evaluate : 
2

0

10sin



 d . 

  ©v¨¤kP: 
2

0

10sin



 d  . 

Or 

 (b) Prove that 
2

1
. 

  
2

1
 GÚ {ÖÄP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Find the complete integral of npqqp  22 . 

 npqqp  22  ß •Êz öuõøPø¯U PõsP. 

17. Solve 221 qpqypxz  . 

 wºUP: 221 qpqypxz  . 

18. Find 








54

2
2

1

ss

s
L . 

 PõsP  








54

2
2

1

ss

s
L . 

19. For the following data find  4.0'f  and  4.0"f . 

x : 0.1 0.2 0.3 0.4 

f (x) : 1.10517 1.22140 1.34986 1.49182

 RÌPõq® ÂÁµ[PÐUS  4.0'f  ©ØÖ®  4.0"f  PõsP. 

x : 0.1 0.2 0.3 0.4 

f (x) : 1.10517 1.22140 1.34986 1.49182

20. Show that  
nm

nm
nm




, . 

  
nm

nm
nm




,  GÚU Põs¤. 

—————— 


